SN S
A JIRMEY FFS 2 ol M2 JBRF (sl b/sY - sE)
el Ji=Egy = (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
S=491 30,440,354 31,589,034 1,148,680
= 16,997,913
[ 660,000
Jl 3,374,010
[ 9,408,431
Zii-@%g)gﬁif 2 o BME JIERE(SHHL A 30,252,257 31,407,135 A1,154,878
= 16,997,913
= 660,000
) 3,374,010
S 9,220,334
=gy =8 25,569,926 20,959,504 4,610,422
= 16,539,635
Jl 2,789,610
[ 6,240,681
IIEEY oY ¥ FAAE Y S NF(=1) 6,052,520 5,895,624 156,89%
= 5,125,532
== 926,988
308 AHAIEMSOIE 6,052,520 5,8%,624 156,896
= 5,125,532
= 926,988
01 AXEH B EES 6,062,520 5,8%,624 156,896
OJt=2Y o2 & %2 28 S N 6,062,520
= 5,125,532
S 926,988
SR olgef X2 144,000 192,090 48,090
308 AHXIEMSOIE 144,000 192,090 /48,090
01 XN BSEES 144,000 192,090 /48,090
O3It=E olgs X& 144,000
gt 2 29 ZAMEH 8 XNF(=21) 20,000 25,000 /5,000
= 20,000
403 X HMSKH=0lH 20,000 25,000 25,000
= 20,000
01 AXIEHM A= 2 £ 20,000 25,000 25,000
OYSxe & 28 HAEHl S A& 20,000
= 20,000
IIEAYYAX 2R LAX A XA (22) 1,948,333 1,917,700 30,633
Il 1,169,000
= 779,333
307 212+01& 1,948,333 1,917,700 30,633
7 1,169,000
= 779,333
02 LB HAHE L 1,948,333 1,917,700 30,633
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SN S
A JIRMEY FFS 2 ol M2 JBRF (sl b/sY - sE)
Rl gy =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OII=AYYAXN A2 A 1A X&H 1,948,333
Jl 1,169,000
== 779,333
godolmet X1 XAE(20) 425,100 306,133 118,967
Jl 327,000
= 98,100
403 AXIEHHSAH=201H 425,100 306,133 118,967
7l 327,000
= 98,100
01 AR A =2 £ 425,100 306,133 118,967
oggeiZet 4X K2 A 425,100
7l 327,000
=S 98,100
Me =G S4AISSHA =5 204,000 206,000 2,000
202 04l 4,000 6,000 22,000
01 =LHOHI 4,000 6,000 A2,000
OYANLHMA 7= 4,000
206 M=H| 200,000 200,000
01 M=8l 200,000 200,000
OMHE JIEdEE JALSHA 5 200,000
AXE 243(21) 9,000,000 4,556,250 4,443,750
= 8,000,000
s 1,000,000
308 XXM SOIA 9,000,000 4,566,250 4,443,750
= 8,000,000
< 1,000,000
01 XN B2 LS 9,000,000 4,556,250 4,443,750
axzE 2ds 9,000,000
= 8,000,000
= 1,000,000
S=49 - SU=AAYLN - S=ES UISsE ML 5,500 5,500
201 g3 5,500 5,500
01 At22t2lH] 5,500 5,500
ogs 2d WS 5,500
IIEHSE HAl g =4 1,005,000 1,008, 141 A3,141
202 04l 5,000 6,000 A1,000
01 =LHN LI 5,000 6,000 21,000
OJEds g2 = 5,000
308 AXIMSOIA 1,000,000 1,002, 141 A2,141
01 HAHHBAEEXS 1,000,000 1,002, 141 A2,141
OII=EEE oAl &9 =4 1,000,000
II=EZ XA 91,200 91,200 0
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SN S
A JIRMEY FFS 2 ol M2 JBRF (sl b/sY - sE)
Rl gy =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOl 91,200 91,200
01 XN B2 LS 91,200 91,200
onsdz X2 91,200
JIEHEY gy 243 A& 173,940 173,939 1
308 AXIHSOIA 173,940 173,939 1
01 HAHHBSEEXS 173,940 173,939 1
O=dEE 29 2X3 X3 173,940
=2 =& X& 226,800 226,800 0
308 AtAIEHMSOIE 226,800 226,800
01 AXEH B EES 226,800 226,800
Oz=2 =g A& 226,800
THS g X&A(=1) 2,79%,9%4 2,849,010 A52,056
= 2,382,303
= 414,651
308 AHXIEMSOIH 2,79%,9%4 2,849,010 A52,056
= 2,382,303
< 414,651
01 HAHHBSEEXS 2,79%,94 2,849,010 A52,056
O7Ng &g K& 2,79%,954
= 2,382,303
= 414,651
SSEHE 2F(=1) 1,562,332 1,538,413 13,919
7l 1,293,610
=S 258,722
308 XXM SOl 1,562,332 1,538,413 13,919
Jl 1,293,610
S 258,722
01 XN BSEES 1,562,332 1,538,413 13,919
O=ssgN 248 1,862,332
) 1,293,610
S 258,722
=Y AI=sIF HESHH A 60,000 63,000 A3,000
308 AXIHMSO0IA 60,000 63,000 A3,000
01 XN EES 60,000 63,000 23,000
OZZ AM=sTt HASZH X2 60,000
SOt MHHEAS ASAE- HHl X2 47,490 47,790 A300
403 X SHHMSAH=01H 47,490 47,790 A300
01 AXISHHA =2 £ 47,490 47,790 A300
OsIt A A=AIE - HHl X2 47,490
2 dUsIE FHS BAEES A=t N&H 274,000 233,160 40,840
202 048l 4,000 8,160 A\4,160
01 2L AL 4,000 8,160 A4,160
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SN S
A JIRMEY FFS 2 ol M2 JBRF (sl b/sY - sE)
Rl gy =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O7HS HAES =4 4,000
308 AXIMSOIA 270,000 225,000 45,000
01 XN B2 LS 270,000 225,000 45,000
O4 LSt PG WAZE A=t X2 270,000
JIEAMHAE AFOLRHSA 22l - AZ, #4HE)(= 499,500 761,250 A261,750
1)
= 360,000
= 139,500
308 XXM SOIA 499,500 761,250 A261,750
= 360,000
= 139,500
01 XN BELES 499,500 761,250 A261,750
OJEAMAMeEl X OI=0SX 22| - AZ) 499,500
= 360,000
< 139,500
2 st 2822 NH 29,740 29,740 0
308 AFARIEHMSOIE 29,740 29,740
01 HAHHBSEXRS 29,740 29,740
O =Jt 2g22 K& 29,740
oAb S KR 10,000 10,000
307 elztol & 10,000 10,000
02 LB HAHE L 10,000 10,000
O=2IAt H==u= X2 10,000
dESIH A gei2iel N3 48,000 48,000 0
403 MR HHMSAH=01H 48,000 48,000
01 MXIHHA =222 48,000 48,000
OYESIHAS g2l NH 48,000
ARt A FHAAEH S NFHBL=EEA) (2L 195,780 412,750 A216,970
)
= 144,200
= 51,580
403 THXI M SAH=01H 195,780 412,750 A216,970
= 144,200
=S 51,580
01 AXISHHA =2 & 195,780 412,750 A216,970
ORI 2 HHAAEH S K (HEL
EXA) 195,780
= 144,200
[ 51,580
JISEY HYALE A5 35,000 36,300 1,300
308 AtXIEHMSOIE 35,000 36,300 1,300
01 AXEH B ELES 35,000 36,300 1,300
OJl=29g WAL 2= 36,000
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SN S

A JIRMEY FFS 2 ol M2 JBRF (sl b/sY - sE)

Rl gy =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
IISEY M M) ¥ ASeHE NI (=21) 112,857 225,714 A112,857

= 100,000
== 12,857
308 AXIHHSOIA 112,857 225,714 A112,857
= 100,000
< 12,857
01 HASHHBSEEXS 112,857 225,714 A112,857
OJIsdgd Yd=sot A & ASeHE K
el 112,857
= 100,000
= 12,857
goAal 2o X (21) 451,880 0 451,880
= 347,600
== 104,280
308 AHXIEMSOIE 451,880 0 451,880
= 347,600
< 104,280
01 HAHHBSEEXS 451,880 0 451,880
ogu Al g XA 451,880
= 347,600
= 104,280
II=HZE S Alstdl X2 80,000 100,000 /20,000
308 XXM SOIA 80,000 100,000 /20,000
01 AXEH B2 LS 80,000 100,000 /20,000
o=dgE s Alstl X 80,000
YUIAZ] BHATHE AEYA 25HH X 20,000 0 20,000
308 AXIMSOIA 20,000 0 20,000
01 XN BSEES 20,000 0 20,000
O8I AZ MAHE AEMA 2A3M KIS 20,000
AE ol JI=EY KX W= (LX) (=1) 60,000 0 60,000
= 60,000
403 X SHHMSAH=01H 60,000 0 60,000
= 60,000
01 XIS A =2 60,000 0 60,000
O4IE o2l JIEEY |UXH HEF(D3E
&Il &xl) 60,000
= 60,000
glsE 25 - 2 3,522,066 9,231,539 A5,709,473
= 456,278
= 660,000
=S 2,405,788
SE2s - 2elEXE X 118,480 112,000 6,480
308 AtXIEMSOIE 118,480 112,000 6,480
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SN S
ZE: JIEHYY FWE U OF BUB I(HIH(SYHYLN/5Y - 5EF)
el BldsSE 2S - 2 (S H2)
SA - BE - C9(3H) - KA - BES Ol &t e B2
01 XN ELS 118,480 112,000 6,480
O==2Es - 2B XNFE 118,480
SEHUNESKRY (1) 106,085 0 106,085
= 86,600
= 19,485
308 AXIHMSO0I & 106,085 0 106,085
= 86,600
= 19,485
01 AXIEHBLEES 106,085 0 106,085
O+ NE=2SH 106,085
= 86,600
= 19,485
Fa - RIISS Y2 ¥ (21) 20,475 21,645 A1,170
= 15,750
= 4,725
308 REXIHMSOIH 20,475 21,645 21,170
= 15,750
& 4,725
01 XN BAELS 20,475 21,645 A1,170
O=4 - RIIS=S Ydl N 20,475
= 15,750
& 4,725
BlisSE ML (HEAIY) 51,000 30,600 20,400
403 XX SHHSKH=01A 51,000 30,600 20,400
01 XIXISHNHAH=E X 51,000 30,600 20,400
ObtzisS2 =0l =4 (&8 51,000
S2ES - 2l - Xal X 290,000 306,410 216,410
202 o4t 5,000 8,160 23,160
01 =WO4 LI 5,000 8,160 A3,160
s=E2sY:R FA 5,000
308 AXIHMSO0I & 285,000 298,250 A 13,250
01 AXIEHBLEES 285,000 298,250 213,250
Os28s - 22l - ™el K& 285,000
R4 RIIs2 2E - E5H N(=21) 85,966 61,404 24,562
= 50,568
= 35,398
308 RXISHMSOIH 85,966 61,404 24,562
= 50,568
L= 35,398
01 AXSHELEES 85,966 61,404 24,562
OR4 - RIIs=2 72X - 2Bl N 85,966
= 50,568
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AN SSYHDL
B JlEFGY HEE U X BAS IURE(SHHYSL/5Y - 5E)
Rl geisE 23 - 2l EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 35,398
2020 SH3 +==H XA (=1) 414,656 418,880 N4,224
= 188,480
= 226,176
308 XXM SOIA 414,656 418,880 N4,224
= 188,480
=S 226,176
01 XN B2 LS 414,65 418,880 N4,224
0z2120| 43t =4l N2 414,656
= 188,480
< 226,176
s EZet =AY (2 1) 660,000 880,000 /220,000
s 660,000
403 X MSAH=01H 660,000 880,000 220,000
= 660,000
01 AR A= 2 £ 660,000 880,000 220,000
OsE234H &x X 660,000
= 660,000
=t ttelsE 28 &8 100,000 15,000 85,000
308 AtXIEMSOIE 100,000 13,000 87,000
01 HAHHBHEERS 100,000 13,000 87,000
OttASE 2otdAL X 100,000
AANSA Sz X (2D) 213,364 229,600 116,236
= 104,080
= 109,284
308 AHXIEMSOIE 213,364 229,600 N16,236
= 104,080
< 109,284
01 MRHHBAEES 213,364 229,600 A16,236
AIMNESAH(OIEMH) SHate= XY 213,364
= 104,080
== 109,284
BiisSE NMH A48 XS (HEAY) 1,400,000 7,000,000 5,600,000
403 AXIEHHSAH=201H 1,400,000 7,000,000 /5,600,000
02 I 2SS0t etA=2E 2 S A 1,400,000 7,000,000 5,600,000
Otteiss XIAMH A4 X3 (S 1,400,000
A2l H et} teis=E dEHl XIE 15,000 0 15,000
308 AHXIEMSOIE 15,000 15,000
01 XN B2 LS 15,000 15,000
OAt2| HetA} Btels=2 dEHl X3 15,000
dAIEEIL AR & EHotE 29 33,000 33,000
201 et=23y| 33,000 33,000
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SN S
M J|EFAY HEs W O BNE J|HRR(SUHSI/Y - 5E)
el Bids= B - 2 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At2tltl 33,000 0 33,000
OWAIIZEI ?id2 & BHE 23 33,000
SES WAl AMEZE ZEANE XYM (2D) 14,040 0 14,040
= 10,800
= 3,240
308 AtXIEHMSOIE 14,040 0 14,040
= 10,800
= 3,240
01 AXEHBEES 14,040 0 14,040
O=EE YAl NERE FEAE KNEAMS 14,040
= 10,800
= 3,240
thE Rl - ey S 1,160,265 1,216,092 N55,827
= 2,000
7l 584,400
= 573,865
=42 HACCP ZHE (= 12) 16,560 14,720 1,840
J| 14,400
= 2,160
308 AXIHMSOIA 16,560 14,720 1,840
Jl 14,400
& 2,160
01 HRHHBAEES 16,560 14,720 1,840
OF¢t= HACCP &8 X2 16,560
) 14,400
= 2,160
SMSHYE HACP XIE 41,205 41,205
202 04| 7,200 7,200
01 =LHO LI 7,200 7,200
OHACCPAIE eR=2l 7,200
308 AHXIEMSOIE 5,880 5,880
01 HREHH B E2ES 5,880 5,880
OX Y E HACCP &8 X2 5,880
403 AXIEHMSA=01d 28,125 28,125
01 A= 2L 28,125 28,125
OHACCP AIE - HHI S NI 28,125
MR EH oSoSAMBAIY 2E+2(=1) 4,000 12,000 8,000
= 2,000
= 2,000
301 2eEN=S 4,000 12,000 28,000
= 2,000
s 2,000
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AN SSYHDL
A JIRMEY FFE 2 ol B2 JBRF (sl b/ sY - sE)
Cholr EAZ Q1M - ORA Y (SHol: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
14 IIEt2 83 4,000 12,000 /8,000
OXXI M BoSMEAUZAZ 2+ 4,000
= 2,000
< 2,000
SMENYY 4] JHd K& 121,500 121,500 0
403 XIS A=201E 121,500 121,500
01 MHXIHHA 22X 121,500 121,500
O=st=/gE YLl e K& 121,500
CEAAME A X (21) 950,000 926,667 23,333
Jl 570,000
=S 380,000
307 lztol & 950,000 926,667 23,333
Il 570,000
= 380,000
02 2B YAIHE X 950,000 926,667 23,333
O==HAHE 21244] X3 950,000
Jl 570,000
< 380,000
A0HE HACCP = XI& 27,000 27,000
403 AXIEHHSAH=201H 27,000 27,000
01 XM =22 E 27,000 27,000
OADIE HACCP = XIE 27,000
AH2IB3HI(SSLS W) (OIEHIIE 38,097 31,899 6,198
=3l 38,097 31,89 6,198
2AEg Jl=288l 38,097 31,89 6,198
201 Zet=3hl 26,555 21,801 4,754
01 AtR2t2|HI 26,555 21,801 4,754
ORN2gE AtR22/] 26,555
202 04| 7,942 6,498 1,444
01 =LHOLI 7,942 6.498 1,444
SA2E U 7,942
203 HR=H] 3,600 3,600 0
M EAEER=A 3,600 3,600 0
©202! Olat 300,000 * 122 3,600
Hees(sSLdl) (sgagdsdt/sY - s&) 150,000 150,000 0
LIS HHXIE 150,000 150,000 0
S=29 A 150,000 150,000 0
705 D=2 3cIS4aE 150,000 150,000 0
04 Al - EXISGNLD S0 01 Rhatgt 150,000 150,000 0
o'20d =29 150,000
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